Effectuer des comptages

Ajoute 0,1 :

	18,4
	
	
	
	
	
	
	

	1,97
	
	
	
	
	
	
	

	53,245
	
	
	
	
	
	
	

	15,010
	
	
	
	
	
	
	


Ajoute 0,01 :

	18,4
	
	
	
	
	
	
	

	1,97
	
	
	
	
	
	
	

	53,245
	
	
	
	
	
	
	

	15,010
	
	
	
	
	
	
	


Ajoute 0,001 :

	18,4
	
	
	
	
	
	
	

	1,97
	
	
	
	
	
	
	

	53,245
	
	
	
	
	
	
	

	15,010
	
	
	
	
	
	
	


3 + 0,02 = ...............                                                      ............... + 0,24 = 0,52

8 + 0,6 = ...............                                                        0,4 + ............... = 0,7

4 + ............... = 4,8                                                        0,3 + 0,3 = ...............

3 – 0,6 = ...............                                                        0,08 – 0,05 = ...............

3 – ............... = 2,3                                                         0,8 – 0,2 = ...............

17 – 0,06 = ...............                                                    ............... – 0,1 = 0,9

3 – ............... = 2,96                                                      ............... – 0,21 = 0,33              
Effectuer des comptages : devoir 
Ajoute 0,1 :

	54,6
	
	
	
	
	
	
	

	2,58
	
	
	
	
	
	
	

	36,125
	
	
	
	
	
	
	

	95,020
	
	
	
	
	
	
	


Ajoute 0,01 :

	54,6
	
	
	
	
	
	
	

	2,58
	
	
	
	
	
	
	

	36,125
	
	
	
	
	
	
	

	95,020
	
	
	
	
	
	
	


Ajoute 0,001 :

	54,6
	
	
	
	
	
	
	

	2,58
	
	
	
	
	
	
	

	36,125
	
	
	
	
	
	
	

	95,020
	
	
	
	
	
	
	


............... + 0,07 = 21,07
0,02 + 0,05 = ...............

3 + 0,02 = ...............                                                              ............... + 0,24 = 0,52

8 + 0,6 = ...............                                                                0,4 + ............... = 0,7

4 + ............... = 4,8                                                                0,3 + 0,3 = ...............

3 – 0,6 = ...............                                                                0,08 – 0,05 = ...............

3 – ............... = 2,3                                                                 0,8 – 0,2 = ...............

17 – 0,06 = ...............                                                             ............... – 0,1 = 0,9

3 – ............... = 2,96                                                               ............... – 0,21 = 0,33                                                      
